NEW

- Part-I1 3-Tier
2017

BUSINESS LAWS

PAPER—C2
(Honours & General)
Full Marks : 100
Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

—

own words as far as practicable.

Mlustrate the answers wherever necessary.

1. Answer any five questions : 4%5
{a) ‘No man is above law’ — Discuss.
(b} State four essential elements of contract.
{c) What is Quasi-Contract ?
(d) What are the liabilities of minor partner?

(e} Show the difference between ‘Sale’ and ‘Agreement to
Sale’.

{(Turn Qver)



{fi Who is a holder in due course?
(g} Define ‘Person’ as per Consumer Protection Act, 1986.
{h} Distinguish between fraud and undue influence.

(i} Distinguish between ‘sub-agent’ and ‘co-agent’.

2. Answer any five questions : 5x8

fa) (i) “No consideration, no contract” — Explain.

(iij What is actual breach of contract? How actual
breach of coniract take place ? 3+2+3

(b} Mention and discuss the different types of
endorsement. 8

(c) State the grounds on which the court can order
compulsory winding up of a company. 8

{d) Distinguish between void and voidable agreements.
8

(e] Write nctes on -

(i) Caveat emptor and (ii) Warranties. 4+4

() Must a firm be registered ? What are the consequences
of non-registration ? 8

(g} State the features of Consumer Protection Act, 1986.
8
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(h) What are the emplied conditions in a contract of sale

of goods by sample? - 8

(i What is internet ? State its effectiveness. 2+6

() What is FEMA? State the objectives of Foreign
Exchange Management Act, 19997 2+6

(k) What are the restrictions stated in the Factories Act,
1948 regarding the employment of women workers?

8
3. Answer any fwo questions : 15%2

(a} What are the provisions relating to the health of
workers according to the Factories Act, 19487

(b} Define Consumer. What are the objects of the
Consumer Protection Act, 19867

(c) Explain the difference between a condition and
warranty. Under what circumstances can a breach of
condition be treated as a breach of warranty?

{d) Nemo dat qui non habet’ or No ane can give who
possess not’ — Give the exceptions of the principle.

[ Internal Assessment — 10 marks |

C/17/B.Com./Part-I{H&G)/3T{N)/C2 {Turn Over}



REICEIL

w15 eITE ST eru i
TN TITEY [0GT G TG P ATz |
fem—3
SU AT AT U TeT W ¢ 8x¢

(®) ‘W g% w3t Ord W — et 39

(%) fem ol e @ Setmm A w1

() ©A-FE NS T |

(¥ TEE wemiey wiismet /e

(8) ‘fEy o ‘Rerag wafe-az Iy 1k orane |
(®) WA 493 IS & @re

(R) (61 ™1 AL, Sabo AN TH'-97 wwet we )
(&) ‘UoEI ¢ ‘WD WS -9T AW AT |

@) Tei-ufefify ¢ mm-afefiig s e R w0

C/17/B.Com./ Part-1{H&G)/3T(N)/C2 {Continued)



! (T W FT AUEE THE e 8 e xbr

(F)

C))

(o)

()

(%)

®)

(=)

(%)

)

(i) “efoms w3, piee FZ° — T I
(i) ¥FO piEFeT IF 7 FFOnT #FS pieen Rl

2 O+ 340
RfR ePE ~HIFTeR BTRY T AL 91 v

mmmﬁc@wmﬁam«mﬁm
AN (A ¢ 1'%

e @ eIy THfoT Wy Memelt el v

Bl (o142 |
(i} cFot ARYE, (i) ¢ xS o 8+8

AR Afdwas FeEA & AgerER e fRfde 1 28 R

s e v
ST S SR, Sovb-aF RS @Y v
T P A R pfew v 1R e 4
BTG e 3z wrfifdel Sraw 3+

C/17/B.Com./Part-I{H&G)/3T(N)/C2 (Turn OCver



(@8) FEMA &7 >edd a9 FEMA 37 S foe

A+

(T) S8t AT FHIM BT AT e ficen Foz
WP @ T Rig-Aray wieg o e 91 b

ol (A (M 725 v Taw w6 3 Sexy

(F) R SN2, o8y SN WRTR Ty e Rawong
@WW!

(%) (FOR M@ WS | vy TR (TS HL-TH WEL
ol & &9

(D) Y S 8 (M TSI AT 1L FIY 37| (e TR A4
S e (Mo =S ©n Ze 1y 2209 AR

(9) ‘Nemo dat qui non habet’ WYq ‘FF T ST ©F
o BePBOT AY TG IIYCPE (ROT W AT — Tfew
JGroTwefd SEsa o9

[TETTHT FTS — S0 797 |

C/17/B.Com. /Part-1(H&G)/3T(N)/C2 TB—1775

v\



